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Instructions :

The question paper has 36 questions in all. All questions are compulsory.

Marks are indicated against each question.

This question paper consists of two parts i.e. Part-I and Part-II. Part-I of this question paper
contains Multiple Choice Questions (MCQs) from serial number 1 to 16 of 1 mark each.
These sixteen questions of Part-I are to be answered on a separate sheet provided. This part
has to be completed in first 30 minutes only and the answer sheet must be handed over to
the invigilator before starting Part-II.

In Part-II of the question paper, there are 20 questions from serial no. 17 to 36. These questions
are to be attempted in 2 hours and 30 minutes. This part should be attempted only after the
stipulated time given for Part-I.

Questions from serial number 17 to 31 are 3 marks questions. Answer of these questions
should not exceed 80 words each.

Questions from serial number 32 to 35 are 4 marks questions. Answer of these questions
should not exceed 100 words each.

Question number 36 is a map question of 3 marks from Geography only. After completion,
attach the map inside your answer book.
An additional 15 minutes time has been allotted to read this question paper only.
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PART -1

According to which famous economist, Indian gold exports promoted global economic
recovery ?

(a) Paul Wood (b) John Maynard Keynes

(c) Amartya Sen (d) David Jones
OR

In which one of the following years did the earliest factories in England come up?

(@) 1710 (b) 1720 (c) 1730 (d) 1740
OR

Which one of following cities is known as the city of dreams?

(a) Bombay (Mumbai) (b) Agra

() Lucknow (d) Jaipur

Which group of countries was known as the “‘Axis Powers’?
(a) Japan, Italy and China (b) Germany, Italy and Japan
(c) Germany, Italy and France (d) None of the above

OR

Who among the following set up the first Indian Jute Mill in Calcutta (Kolkata) in
19177

(a) G.D. Birla (b)  Seth Hukum Chand
(c) Dinshaw Petit (d) None of the above
OR

Which one of the following cities was designed as a garden city by Raymond Unwin
and Barry Parker?

(a) London (b) Manchester
(c) New Earswick (d) Lancshire

Who among the following brought the technoloy of wood block printing to Europe?
(a) Johann Gutenberg (b) Marco Polo
() Richard M. Hoe (d) None of the above
OR
Who among the following is the author of the novel ‘Oliver Twist'?
(a) R. L. Stevenson (b) Charles Dickens

(c) Thomas Hardy (d) Leo Tolstoy
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Who among the following did not write about the caste system?
(a) E. V. Ramaswamy Naickes (b) Ram Chaddha
() B.R. Ambedkar (d) Jyotiba Phule
OR
Who among the following is referred to as the pioneer of modern Hindi Literature?
(a) Srinivas Das (b) Devaki Nandan Khatri
() Prem chand (d) Bharatendu Harish Chandra

Which one of the following is not an “Abiotic Resource’?

(a) Rocks (b) Metals (c) Fish (d) Minerals

Which one of the following movements is not associated with the protection of trees?
(a) Chipko Movement (b) Navdanya Andolan
(c) Project Tiger (d) Beej Bachao Andolan

Salal Dam is built on which river ?
(a) Chenab (b) Mahanadi
(¢) Krishna (d) Satluj

Which one of the following is not a millet?

(a) Jowar (b) Wheat (c) Ragi (d) Bajra

Which one of the following languages was recognised as the only official language of
Srilanka in 19567

(a) Tamil (b) Urdu (c) Hindi (d) Sinhala

What is the percentage of the French speaking people in Belgium?
(@ 59 (b) 40 (c) 60 (d) 41

Which one of the following subjects is included in the state list?
(a) Agriculture (b)  Foreign affairs
(c) Banking (d) Currency
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In which of the following countries the very participation of women in public life is
very low ?

(a) Sweden (b) Denmark (c) South Africa (d) Norway

Which one of the following is the most important attribute while comparing development
of various countries?

Population
Social status of the people
Political status

Per capita income

Which one among the following is a developmental goal for the landless rural labourers?
To get electricity and water
To educate their children
More days of work and better wages

To shift to the cities

Which one of the following occupations is associated with secondary sector?

(a) Agriculture (b) Forestary

() Sugar Industry (d) Banking

Which one of the following is a feature of organised sector?
(a) Workers are exploited.

(b) Rules and regulations are violated.

(c) Jobs are low paid.

(d) Formal processes and procedures are followed.

1080716-B1




PART - II

Explain three major features of global agricultural economy that had taken shape
towards the close of nineteenth century. 3x1=3

OR

What role did the Indian merchants play in the growth of textiles industries before
1750? Explain any three points. 3x1=3

OR

Which cities were called ‘Presidency Cities” in the 19th century India? Mention any
two main features of these cities. 1+2=3

Explain any three factors responsible for the invention of ‘New Printing Technology’ 3x1=3
OR
Name any two great works of Charles Dickens, How did industrial age affect his writings ? 1+2=3

In what three ways was the print culture helpful for creating conditions for French
Revolution? 3x1=3

OR

High light any three advantages of using vernacular in novels? 3x1=3

How did the Indians copy and preserve their manuscripls? 1+2=3
OR

Why is “Titash Ekti Nadir Naam’ considered a special novel? Write any two main features
of this novel. 1+2=3

What are the main advantages of India’s land under a variety of relief features?
Explain any three adverse effects of the destruction of forests and wild life ? 3x1=3

Do you agree that the need of the hour is to conserve and manage our water resources?
Justify your answer with any three suitable arguments. 3x1=3

How many times was the Belgiun Constitution amended between 1970 and 1993?
Mention any two positive effects of power sharing arrangements is Belgium ? 1+2=3

‘All social differences lead to social divisions’. Justify the statement.
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“In a democracy, political expression of social divisions is very normal”. Support this
statement by giving three suitable arguements. 3x1=3

Explain any three reasons for the decline of caste system in India.

On what bases have the rich and low income countries been categorised in the World
Developmet Report, 2006. India comes under which catagory and why? 2+1=3

What is the meaning of Infant Morlality Rate” (IMR)? Give two main reasons for low
IMR in Kerala. 1+2=3

Compare the employment conditions prevailing in organised and unorganised sectors.
1%2+1Y%2=3

Highlight any three factors responsible for making tertiary sector so important in India.
3x1=3

Define the term ‘“Trade surplus?” How was the income received from trade surplus
with India used by Britain? 1+3=4
OR

Why did the technological changes occured slowly in the factories in 19th century?
Explain any four reason. 4x1=4

OR

How did the development of cities influence the ecology and enviornment in late 19th
century ? Explain your answer by giving the examples of Calcutta (Kolkata) 2+2=4

Name the four fibre crops grown in India? Which one of them is not obtained directly
from the crops? What is the name given to the process involved in its production? 2+1+1=4

Describe in brief the language policy of India?
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35. Study the graph given below and answer the following questions : 1+2+1=4
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35.1 Which was the largest producing sector in 1973?

35.2 Which was the largest producing sector in 2003?

35.3 How much percent is the contribution of secondary sector to total GDP in 2003.
35.4 What is the approximate share of tertiary sector in GDP (%) in 1973 ?

For blind students only in lieu of questions number 35.

Answer the following questions :

(a)  Which sector has shown the maximum production between 1973 - 2003

(b) Why is tertiary sector becoming so important in India ?

()  Why could most of the people not shift out of primary sector ?

36. Three features with serial number 1 to 3 are marked on the given political outline map
of India. Identify these features with the help of the following information and write
their correct names on the lines marked in the Map. 3x1=3
1.  Soil type
2.  Tiger Reserve
3.  The leading tea producing state.

OR
Locate and label the following items with appropriate symbols on the same map given
for identification
(@) Salal Dam
(b) Sariska Wildlife Sanctuary
(c) The largest producing state of Maize

Note : The following question is for the Visually impaired candidates only in lieu of Q. No.36

Answer the following question :

36.1 Name the Tiger Reserve of Assam

36.2 Name the state in which Salal Dam is built

36.3 Name the leading maize producing state of India.
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HIT - 1

g ufag Aemet & ST UR, IRdE 9 fob fafa 3 Sfvasw steferazen &1 yadfea fowan ?
(a) WIS (b) fod
(c) SR T d) o arE
areraT
e § URfYS wREM! o1 3¢9 fohd a9 § gan ?
(a) 1710 (b) 1720 ) 1730
BbE)
frefafeaa o @ fog TR EwHl % TR % T H @ SR 2
(a) T (wTE) (b) T
() wET> (d) AR

o <91 Tg 1 g kT wfSET e S o 2
(a) STUM, 3t 991 = (b) ST, SeE q STAH
(c) A, Selt qo Wil (d) ST ¥ ¥ FIE Tal
YT

freferfed | 9 fhed wRa i gell S[E el shierer | fid i ?
(@) Sft. . foren (b) E3 gFHHER
() femer afee (d) SR H G FE T

YT
fga 9 9 form 7R &1 festg, We gafaq v S qrehe g, e {98 & w9 # oo fwan

~

[+

fe
?

(b) HEER
(d) THREMR

frefafad 9 9 =1 g sk U7 (T&H 1 BUE) i ahiew Sl 49 § A1 ?
(a) S Tt (b)  TERT Tl
© feRwm @ (d) S H | R TR
3AAqAT
‘ Siefter feere ek Su=Iw, frefafed # | feem foman ?
(a) ¥R TA. EaHd (b) =TeH fewmd
(c) or9H et d) feri Siewer
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frefafea & @ femm sifa won & s A =& foman ?

(a) 3. <. TERETEH R (b) TH TS

(c) W IR SATEEHL (d) SAfden Fe
et

frefafed # 9 fd snyfte fe<i wifec &1 g1 a1 S & 2

(a) HiffemE <™ (b) et e

(c) UH=iE (d) R BleEs

Frefafad § @ ST S99H, s/&e SEEE T8l B
(a) <=M (b) U (c) wfer

N

frefafaa # @ =9 @1 o1ider gaif & T 4 gEfd T2 82
(a) Tev=R! sTideH (b)  ERT SAiQTeT
(c) amE ufES CIEEISEEEIE I GE]

TaTe ary R T R g ® ?

freafafea § @ =9 91 21979 JIS 311 i S0 | T} 37 ?

(b) T () il ) &

frefafed 5 9 foq o1 =1, 1956 | Hiciehl 1 TSTHTH o €9 § H-=4d1 916 g8 off ?
(a) afga (b) T ) fe=i d) fogett

Sfesrra § wiE 9T sierarel @l o1 gfasTd = R ?
(@) 59 (b) 40 ©)
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frefafea # @ =@ o fawa, w1 gfa  wita €2
(b) foceh 7w
(d) ¥

Frefafea <o § 9 fore w1 4, Afeenstl 1 e &9 § FgaiiTal 9gd &9 § 7
(a) e (b) ST (c) o At (d) TE

fafim 39 % faem &1 qa w3 99a Faifys geqayel o S § 2

(a) SHEE (b) Tl %1 ETHTSTeh &I

(c) TSI &R (d) ufdsafe =

frfafea & @ &9 1 @&, JHEE I gfiel w1 asa 2
IEENIKGEIS KRGS
o = o fafera &
FM % foT T Al < Atk &

TR H S T ST

freafafaa 8 wF-91 sHeuE fgdias 89 9 Te-ud € ?
(@) Ff (b) =foret (c) T IcareH

frefafea & @ =F o fagivar, gfed & &t fagva €2
gftgent o1 w0 foman Sar §

1| e AT 1 3@ fohan ST § |
FM & T =9 994 foar S §
SAro=nfes gfpard qen faferai sTaam et 2 1
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HIT - 11
17. eqdl vt o Afqw auf § W A arelt afvas Hiy stefeeen ot fh=l d fagraarsti =t
e fenferg | 3x1=3
3rerar

1750 ¥ &, YRAdTE SATIE! 3 9% SUNT o {qehd o T a1 fheht o1e1 &1 | fo=l a4 fagat
1 T HIT | 3x1=3

AT

eitae! waTdt H uRd TR wed 1 YEISHT I el Wl 412 3 AR ) el < g
faRraneti =1 Sera faRferg | 1+2=3

T2 AU qoheAteh o STAhR o ot STl fv=dl 19 &l i =ame fhfaw
AYqAT

=Ty feshm &1 for=dl <1 wem, Ffadi & m fafaw | sfnfirs #1a 7 39 F @l #1 f5g yaR
geqrferd femar 2 1+2=3

g GEpid A f o aliel | widiE Hidt & fore weres affeerdten w2
YT
STATEl § ST | 1 YAN fRT ST & IS i 39T oaisy |

IRATE S foh TR ST Tigfafaal =it Tohel ohid 9 Ao 3w¢ Qe @ 9 ?
YT

TS The! TR AW A % QI 1 ek (TS SUATE F FHE Sl § 2 39 U F HiE
amm°wl 1+2=3

I H o W fafs gR 1 - STRfaEi & BF & T oY 1 2

= TIforEl o a1 o foaemer o fR=l 919 goowmEl st e fefea

T 39 HeHd § o STt HETeT o1 TRI0r 99 Yoo o7 o o &1 7 ¢ 2 Tl o Suge
TRl gRI 3T ST 1 qfE fepfeg | 3x1=3
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1970 T 1993 % o=, Sfesrem & Wiaum w1 Feed fardt ar gan ? dfesam ¥ 91 § 9Eert
Tl I & fohgl T hRIcHs TYTEl 1 S8@ fofs | 142=3

‘gt grTfees Tade, gETfee fae w1 9 <4 € 1 39 e & FEdTa fag fefem 3x1=3

" SR H |rEISTR fauTSHI i TeHITas AT T oW a1 & 1’7 @9 S9dad aehi g1 39
YT T gHYA TRl 3x1=3

IRd § Sfagen & a4 & fF=r 9 ROl St SRS Fifeg | 3x1=3

foga fasm RAR, 2006 o STTIR €Ted ST A1 HH 3T el ¥ &l A5 HT A1 STHR
FNT? URA 1§ 9 forg it & o1man § iR =i 2 2+1=3

T3] o <X (1 W AR W A ATUWE €2 et W ok Ty geg <X <1 q&T R0 S sy |
1+2=3

qiTfad qT STHSA &1 i | 18 S et YsHR ot fearfaai st ger fefs | 12+11,=3

A | qrdeh &5k Sl a1 Hewequl a1 & T STERA ol o ekl ol ISR forfea |
3x1=3

‘SR AT T gfTfg foRfeTa | IO 3 YR % W1 AR 9 Y ¢ SR s’ s 9
9 T&R fwar? 1+3=4

arerar
19 of SIaTsal % HREM! § qehriehl UREde ¢fiY € I g § | I =R qe e |
3rera

JeNEe SIdTsa] & 3T H, TR & fawm 7 few yer nitfeaefifaent =1 o wafaro =1 yofaa
fhal ? STl o QBN Sl FEEd ¥ 79 IR Tl HHSAET | 2+2=4

qRA § I S el IR WeR wHal & 79 faf@n 139 3 9 iF 91 % 9@e %9 ¥ w9d ST
Y U TS BT 59 W % IA1GA % fAU STIAE SHarett gihar & AW fafew | 2+1+1=4

ORG i 9T Fifd o1 Gk o guie wmifsw )
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35. ﬁ%mmmmam itsre qen F=fafed uwﬂlﬁ;waﬁﬁw 1+2+1=4

Gﬁﬁrﬁﬁ@aﬁﬁ%@mﬁ(%

[ Tt aren
O e oo
B wafirw d

TITITITI

1973 2003
35.1 1973 H Haiferer Sedre aren %Teﬁ aﬁw 941?
35.2 2003 H Haiferh IEH AT &5 hiAaT o1 2
35.3 2003 ¥ Hehel =] IS (SELW.) H fgdiaen & &1 anem forar wfaem €2
35.4 1973 & SH.ELT (%) ¥ g & 1 e fohae Amme € 2
e : IHEH wenfe & fau, 99 §E 3y & WA W
ﬁnaﬁaﬁaauw#fé:sazéﬁﬁq;
(a) 1973 -2003 & A& fhE & 1 Scured sifyeshad o1 ?
(b) 9RG H ek &=k AT Hewaqul i Sal S @1 § 2
(c) STfeehie o Wfhek &k | e Rl el Fehel ¥k ?

36. WA % feu U yeHifaw Y@ qeteas § i 19 3 g0 919 &or <9id T 1 A € e
SRR 1 Ferddl § 3= Ug=nu qon fAaifa Tom R S 9et 9m faf@aw | 3x1=3
1. T THR
2. 9 R=d

3. 999 =1 3cdlqeh Y

AAAT
TgaH & fog fou u amfes # € frefafea #t goifze qen s 7w fafew)
(a) T S|
(b) ERERT T YT IYIfaRR
(c) HalY® Tkl IcGH o

Note : had g BTHl o foTt, I H&AT 36 o TH W | F=fafad g9 & I S
36.1 399 & o9 Red 1 9 fafaw |
36.2 39 T4 1 M fafae <@l Jore 20 froa 7|
36.3 9NA o Hdifereh Aokl 3cdigeh U9 1 A fafEu)
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